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A B A 0.5m3, 250kPa
300K; B 1m3 150kPa 1000K
A B
16
1000°C 100°C,
10CTC 50°C
27°C 1000KJ
1)
2)
3) 16
TP290K
Pi=0.1MPa, P2=1.6MPa 500m¥h(
n=1.20
(1) Px, (2)
T (3) 4)

=2870I(kg - K) cp= 1004k - K) (I
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G=540 °C (2=30°C

2x107kJ
5MW .h 16
AzOJMPa
=500°C A =0.3MPa = 1.5kg/s
c/1 =100m/s \=1.00417/(1",
ver=0.528, i?9=287J/(kg-K), 6=1.4 1) 2)
3)
(20
D, =\2MPa,tx= 550 -c pd=3MPa, p2=0.004MPa
(1) r-s 2) a, ; (3)
(4) 14
(20
P/MPa t°C h/kJ/kg s/kJ/(kg « K)
12 550 3479.1 6.6511
3 320 3042.3 6.6228
3 330 3066.7 6.6635
P/MPa \TC h' (ki/kg) h " (kI/kg) s, ki/(kg *K) s"k/(kg *K)
3 233.89 1008.2 2803,19 2.6454 6.1854
12 324.72 1490.7 2684.5 3.4952 5.4920
0.004 28.95 121.3 2553.45 0.4221 8.4725
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